158 ERp I P THRFRIPAERRFTER

PR PAE AR R B 4 A A I AL § AP R AT
R e BT S S AR 2 AT 8 ATR TR U A
p

FEAE PRALSTY MM AN LA D WRRAE R ST WIS o

é
=
&)
¥
e
beits
Pt
pas}
&“‘2

SENE S TR 1AL IR T

s
AL EFENEER ST FHeEA RAP G alAY Rt 8 7 16 p A i (iF A

105 # RA R4 P Y AE RS S ADEY §ERP 4T

#;
)

%104

igﬁﬂytwﬁﬁyﬁﬁ”[”ﬁ@*“t”“”+5”"F*ﬁ%V@TEMﬁnw’saﬁﬁ BT o

F iz

= (M +5m)a (1)
mg -T =ma (2)
I AR

_ g

" M +6m (3)
F S ET R S,
F=ma (1)
(&
mg = (M +6m)a (2)
i,

_ g

" M +6m (3)



4
(N
&

&
W
|

PR a
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(kg) 1.10 1.00 0.90 0.80 0.70 0.60
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